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Logical Reasoning Questions for CLAT Exam.

CLAT Reasoning Quiz 50

1. Directions: The following question, a statement is given followed by two conclusions.
Give answer:

Statement : According to Baba Ramdev “Values, integrity and peace of mind are essential for a
beautiful life.”

Conclusions:

|. Baba Ramedev believe that each of values, integrity and peace of mind are essential for a beautiful
life.

Il. Baba Ramdev believes that materialistic person cannot have a beautiful life.

A. If only conclusion | follows. B. If only conclusion Il follows.
C. If both conclusion I and Il follow. D. If neither | nor Il follows.
2. Directions: The following question, a statement is given followed by two conclusions.

Give answer:

Statement : Anyone who manages an engineering organisation like Tata Motors can only be
successful if he has the knowledge of the professional work that is carried on in the organisation.

Conclusions:

l. If you want to run any company, it is essential that you should know the professional work
associated with it.

Il. In order to manage an engineering organisation like Tata Motors, it is essential to have an
engineering education background.

A. If only conclusion | follows. B. If only conclusion Il follows.
C. If both conclusion | and Il follow. D. If neither | nor Il follows.
3. Directions: The following question, a statement is given followed by two conclusions.

Give answer:

Statement : India won the second test match against Pakistan by one innings and two hundred and
three runs. The greatest contribution was from the bowlers.

Conclusions:
|. Most of the Indian players are bowlers.
Il. It was India’s biggest win against Pakistan.

A. If only conclusion | follows. B. If only conclusion Il follows.
C. If both conclusion | and Il follow. D. If neither | nor Il follows.




4. Directions: In question below is given a statement followed by two assumptions
numbered | and Il. Consider the statement and decide which of the given assumption is
implicit.

Statement : A Reliance Fresh Retail store was attacked by vegetable vendors in Ranchi.

Assumptions :
l. Reliance Fresh was affected the livelihood of local vegetable vendors.
Il. Reliance Fresh stores are built in thickly populated areas.

A. If only assumption | is implicit B. If only assumption Il is implicit
C. If both I and Il are implicit D. If neither | nor Il is implicit
5. Directions : For the Assertion (A) and Reasons (R), choose the correct alternative from

the following.
Assertion : Over the past few decades, there has been drastic global warming.

Reason : The push for economic development has increased to dangerous proportions the emission
of greenhouse gases into the atmosphere.

A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not correct explanation of A.
C. Alis true but R is false
D. Ais false but R is true

6. Directions : For the Assertion (A) and Reasons (R), choose the correct alternative from
the following.

Assertion : Kerala is the largest state in India.
Reason : Some of the leading car manufacturing companies of the world are Japanese.

A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not correct explanation of A.
C. Ais true but R is false
D. Aiis false but Riis true

7. Directions : For the Assertion (A) and Reasons (R), choose the correct alternative from
the following.

Assertion : The filament inside a bulb is made of copper.

Reason : Usually there is vacuum in the bulb

A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not correct explanation of A.
C. Ais true but R is false D. If both A and R are false




8. Directions : In the following question a statement is given followed by two courses of
action. A course of action is taken for improvement, follow up, etc. Read the statement
carefully and give your answer as

Statement : There is a proposal for the Maharashtra government to clear the slum areas in Mumbai
for beautification and economic development.

Course of Action :

|. The Maharashtra Government should compensate the affected persons with reasonable amount.
Il. The Maharshtra Government should stop beautification and economic development work
immediately

A. If only course of action | follows. B. If only course of action Il follows
C. If both I and Il follow D. If neither course of action | nor Il follows.

9. Directions: In given question below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows/follow from the given statements, disregarding
commonly known facts.

Statement : Some actors are producers.
No producer is @ musician.
All musicians are painters.

Conclusions: l. All producers being musicians is a possibility.
Il. Some painters are definitely not producers.
lll. All actors are musicians.

A. if only conclusion | does not follow B. if only conclusion Il does not follow.
C. if only conclusion Il does not follow D. if both conclusion | and Il do not follow.

10. Directions: In given question below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows/follow from the given statements, disregarding
commonly known facts.

Statement : All pens are pencils.
Some papers are pencils.
No paper is an eraser.

Conclusions: |. Some pens are pencils.
Il. Some erasers are not papers.
lIl. All erasers being papers is a possibility.

A. if only conclusion | does not follow B. if only conclusion Il does not follow.
C. if only conclusion Il does not follow D. if both conclusion | and Il do not follow.




Correct Answers:

Explanations :

1.

Conclusion | follows since that is what is meant by the statement. Materialism is generally anti value
and integrity and hence we can draw the second conclusion.

Hence option Cis correct.

The statement particularly talks about engineering organisations like Tata Motors. The first conclusion
is generalising the statement and is hence not valid as a conclusion. The second conclusion follows.

Hence, option B is correct.

Both conclusions are invalid.

Hence, option D is correct.

Assumption | is implicit because somewhere down the line, Reliance Fresh is affecting the local
vendors. That is why they have been violent. Assumption Il is irrelevant because nothing is mentioned
regarding the location of the stores.

Hence, option A is correct.

Green house gases are the root cause of global warming. Hence both A and R are true and R explains A.
Hence option A is correct.

The Assertion is false because Kerala is not the largest state in India. R is true but it is not related to
Assertion.

Hence, option D is correct.

A is false because a bulb's filament is made of Tungsten and not copper. R is also false because inert
gases or nitrogen are filled inside the bulb and there is no vacuum in the bulb.

Hence, option D is correct.




10.

Only course of action | follows. Government should take care of affected people. It should pay
reasonable amount to affected persons. Second course of action does not follow because it is illogical.

Hence, option A is correct.

No producer is a musician (E) - implication - Some producers are not musicians (O). Hence
conclusion | does not follow

No producer is a musician (E) + All musicians are painters (A) = E + A = O* = Some painters are not
producers (O*).Hence conclusion Il follows.

Some actors are producers (l) + No producer is a musician (E) = 1 + E = O = Some actors are not
musicians (O). Hence conclusion Il does not follow. This both conclusion | and Il do not follow.

Hence, option D is correct.

All pens are pencils (A) - implication - Some pens are pencils (I). Hence conclusion | follows.
No paper is an eraser (E) - conversion - No eraser is a paper (E) - implication - Some erasers are
not papers (O). Hence conclusion Il follows. But the possibility in Il does n ot exist. Hence Ill does not

follow.

Hence, option C is correct.
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